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Q1. x does 1/4 of a job in 6 days y completes rest of the job in 12 days. Then x and y could
complete the job together in

X T &9 T ¥4 6 &A1 § FLAT 8, y, 12 AT § 719 &7 QX FIQT 8. AV X 3R y T 91 il {hae & § @ 9
qFhd 572

(a) 9 Days/fe=

(b) 8 Days/f

(c) 92 Days/f

(d) 7; Days/fx

Q2. 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can do the same
work in 8 days. In how many days can 2 men and 1 boy do the work?

2 99 X 3 a=% 10 A1 § UF 14 T g6 8, T 3 TV 3 2 AL G 18 H1 8 AT § T 9 . 2
&Y 3T 1 AEH1 HTH &l fhae (&A1 § F a9 57

(a) 8 Days/fe=

(b) 7 Days/fa=

(c) 12 ¥ Days/fe=

(d) 2 Days/fa=

Q3. A tank can be filled by pipe A in 2 hours and pipe B in 6 hours. At 10 am pipe A was opened. At
what time will the tank be filled if pipe B is opened at 11 A.M.?

T &, q157 A ST 2 st # iR 9157 B ST 6 =i § S ST 96T §. g 10 o7 9157 A il @r<T 797 9T,
& farae a9 o% 9 SR AR 975 B gag 11 T @i .

(a) 12.45 A M.

(b) 5 AM.

(c) 11.45 AM.

(d) 12 P.M.

Q4. A can go round a circular path 8 time in 40 minutes. If the diameter of the circle is increased to
10 times the original diameter, the time required by A to go
round the new path once travelling at the same speed as before
is:

A TF ATHIL AT HT 8 T gL AaT & s 40 e #7997 svrar
§. Ife 99 & =49 § g A1 ¥ 10 AT I i I q, T AR H7 FEHC ° TEST SERIES
AT # A g o st gwy fqar g, Seeht Tfa 9@t § S a8 B
ft?

(a) 25 minutes/ A= SSC Pl’ime
(b) 20 minutes/fA e
(c) 50 minutes/fA¥e
(d) 100 minutes/fa=e
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Q5. The cost of levelling a circular field at 50 paise per square meter is Rs. 7700. The cost (in Rs)
of putting up a fence all round it at Rs. 1.20 per meter is (Use mt=22/7)

50 T Wi a1 Hie< it X ¥ TF JATHR & & GHAAT H§ S ATel AR 7700% 3. I 97 i< 1.20 & I
9 HeT Fit I F AT FA Fi AT I (FIAT H) (0=22/7 FT T FX)

(a) 132 Rs/®

(b) 264 Rs/=

(c) 528 Rs/®

(d) 1056 Rs/=

Q6. P and Q are 27 km away. Two trains with speed of 24 km/hr and 18 km/hr respectively start
simultaneously from P and Q and travel in the same direction. They meet at a point R beyond Q.
Distance QR is

PiRQ27 i fi o g F 24 Ffim ik 18 /e I T AT P iR Q¥ T a1y AT §
AT RAT A AT HAT §. 9 Q & 9 g R R W §. QRFAT &

(a) 126 Km /T

(b) 81 Km/Fft

(c) 48 Km/f¥

(d) 36 Km/ Tt

Directions (7-8): The income of a state under different heads is given in the following pie-chart
and answer the questions.

fReforfere = § g o ey = & Sfavta O Tt it 3 sy 9T T g, S9 S,

= Custom Duty = Market tax = Income tax = Excise Duty = Property Tax
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Q7. If the incomes from the market tax in a year be Rs. 165 Ssc CG L TI ER'"

crores then the total income from other sources is (in Rs.

Cores): P RI M E

I3 TF a9 | AThe i 8 I §S AT 165 FUS T g A7 37 &q &

: 85+ Total Tests
T T FRAT (FUS T4 A):
(a) 335 Rs/® v 15 Tier ll QualnthPrevious Years’ Papers
v 14 Tier Il English Previous Years’ Papers
(b) 325 Rs/% v 20 Advance Maths for TIER-II
(c) 345 Rs/® v20 SSC CGL Tier Il Quantitative Aptitude

v 20 SSC CGL Tier Il English Language

BILINGUAL

(d) 365 Rs/ =

Q8. If the total income in a year be Rs. 773 crore then the income (in Rs. crores) from income tax
and ‘excise duty’ is:

i TF a9 ® I A 773 AT T & qT 3T T AR 3T L6 F T g 0T ¢ (FUS T A):

(a) 329.80 Rs/ &

(b) 331.45 Rs/®

(c) 329.85 Rs/®

(d) 331.50 Rs/®

Q9. Two number are in the ratio 3 : 4. If their LCM is 240, the smaller of the two numbers is:
T TS 3:4 F FqTa | §. A ST s THTIad 240 T0F & q7 a7 S&AqTaA | qa9 GIer &A1 8
(a) 60
(b) 70
(c) 80
(d)9o

Q10. A man travels some distance at a speed of 12 km/hr and returns at a speed of 9 km/hr. If the
total time taken by him is 2 hr 20 min, the distance is

T ATEHT T g A 12 /e & 1fa & arer o wgar § i< 9 fwsfiyer iy wifer & oo simar ©. afe 9% g
T T awg 2 92, 20 A g AN A &

(a) 35 Km/fFHT

(b) 21 Km/fr

(c) 9 Km /et

(d) 12 Km/T ¥

Q11. A bag contains 216 in the form of one rupee, 50paise and 25 paise coins in the ratioof 2: 3 :
4.The number of 50 paise coins is :

TH ST H 2: 3: 4 % Aq9Td § TF T, 50 9 i 25 99 & g F 0 # 216 T g1 50 9 & f@gyi i g7
AT 872

(a) 96

(b) 144

(c)114

(d) 141
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Q12. In a mixture of 45 litres, the ratio of milk and water is 4 : 1. How much water must be added
to make the mixtureratio3:2?

45 e & or #, g i a1 a4 ¢ 1 8. [ #7 st 31 2 s % g fRamr gt e
ST AT T?

(a) 72 litres / #ftex

(b) 24 litres/ #fe<

(c) 15 litres / #fe<

(d) 1.5 litres/ #fte<

Q13. A started a business with Rs 4500 and another person B joined after some period with Rs
3000. Determine this period after B joined the business if the profit at the end of the year is
divided in theratio2: 1

AT 4500 TTX F T TF Fq9E L€ 347 R TF o= =qi<r B T 99T % 912 3000 TIY % 1T [ (14T 2
I a¥ & 3fq § A1 2: 1 % SIqara | fwriora gran § a7 B fFaeit safdr & 912 sqaam § i gai 9n?

(a) After 3 months /&9 AZIH a1

(b) After 4 months/¥T¥ HEIA aT&

(c) After 6 months /&: AEIA T8

(d) After 2 (1/2) months/aTs AT a1

Q14. A cistern has two taps (which fill it in 12 min and 15 min, respectively) and an exhaust tap.
When all three taps are opened together, it takes 20 min to fill the empty cistern. How long will
the exhaust tap take to empty it ?

T &t | QT A (ST 59 AL 12 9 3T 15 fve § WX 3 §) ik s A 7o 8. 19 i1 9«1 U a1
giw U ST € a1 @t S w7 | 20 e F7 q9g et g, R a9 f i S geit F9 F e awy
AIT?

(a) 20 min / "<

(b) 16 min/ A=

(c) 12 min/ e

(d) 10 min/ fA=e

Q15. 12 men complete a work in 18 days. Six days after they had : atglda 247
started working, 4 men joined them. How many days will all of & o pudlications
them take to complete the remaining work ?

P T OO S N R P Cs e el SSC ADVANCE MATHS
et R cE UL R ke Rtnb kol CRACKER COMBO 2019

HAN? 3 Printed Edition Books
(a) 10 days /fa=

CRACKER-GEOMETRY

(b) 12 days/ fa= MENSURATION
(c) 15 days / fa= ALGEBRA
(d) 9 days/ fa=
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Q16. A motor boat whose speed is 15 km/h in still water goes 30 km downstream and comes back
in four and a half hours. The speed of the stream is :

T A Te Sradr fRu< art & i 15 Bt / =T 8, 30 fFft e & aqger st § o ang = w5 § a9
AT g1 &Ry St i AT 2

(a) 46 km/h

(b) 6 km/h

(c) 7km/h

(d) 5 km/h

Q17. The L.C.M. of two number is 630 and their H.C.F. is 9. If the sum of numbers is 153, their
difference is

I G&IT3l #T L.C.M. 630 g 3T S7%T H.C.F. 9 8. I €&AqTA T ANT 153 §, TT STk 1< T S(a< FIT N2
(a) 17

(b) 23

(c) 27

(d) 33

Q18. The average age of the family of five members is 24. If the present age of youngest member is
8 yr, then what was the average age of the family at the time of the birth of the youngest member ?

T TIE & qIETe A ST g 24 {1 I g9 S T3 it aqqrT g 8 T |, AV g9 SIS I 6 AN
% U TRAT it siq g e o7

(a) 20 yr

(b) 16 yr

(c)12yr

(d) 18yr

Q19. A dishonest dealer professes to sell his goods at cost price, but he uses a weight of 960 g for
the kg weight. Find his gain percent.

TF SSHTT SIAL (I HIA Bl 67 YoF I 99 T I1AT HLAT §, ATHT 9 Teh (hell aoT i 5178 960 ITH T

T START FHIAT gl SHHT AT T FTq Hiforg)
(a) 4%

(b)4(1/6) %

(c) 96%

(d) 40%

Q20. A and B started a business by investing 35,000 and 20,000 respectively. B left the business
after 5 months and C joined the business with a sum of 15,000. The profit earned at the end of the
year is 84,125. What is B's share of profit?

A 3R B FeT: 35,000 i 20,000 F 9T UH FGHE & Fd &. B, T g | A9 Sl 4T § < C,
15,000 F¥ X F AT q@T | € TMQT &, 99 & oiq@ § 84,125 AT T ATH AT graT §. ATH & B FT
Rear sma <

(a) 14133

(b) 15,000

(c) 13,460

(d) Cannot be determined/[HaTHa A&l FRAT ST TehaT
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Q21. A man, a woman and a boy together complete a place of work in 3 days. If a man alone can do
itin 6 days and a boy alone in 18 days, how long will a woman take to complete the work?

T ATEHY, TF AT 3K T Tt U arey foreft #rf 7 3 A7 & @ 29 2. e oy o st 59 6 foAt
H SR T A= 18 AT § X a&ar 8, a7 UF afgar S #14 &i faaw el & v w3t 2

(a) 9 days /9 fai &

(b) 21 days / 21 fe=t &

(c) 24 days/ 24 fe=i &

(d) 27 days / 27 fTeAT &

Q22. A and B together can complete a work in 3 days. They start together. But, after 2 days, B left
the work. If the work is completed after 2 more days, B alone could do the work in

A ST B TF 97 3 foAT & 1 T T G § I TH 1T FTF HLAT L& L 5. AthT, 2 A0 F 91, B 7 7
e fam afe w1 & 2 (A7 % 912 Q@ EiaT &, A B o6t ST F14 &l fahar AT & g0 X gahar 872

(a) Sdays /5 fe=i &

(b) 8 days / 8 fa=i &

(c) 9 days /9 faaT &

(d) 10 days /10 fe=T &

Q23. A and B can complete a piece of work in 12 days and 18 days respectively. A being to do the
work and they work alternately one at a time for one day each. The whole work will be completed
in

A 3T B fadt 1 & s 12 fAT sfi 18 fadt § QU T a0 §. A F § 3l Fhfoqs €9 4 TH TF i
FE Fd gl T FE fae ot & gwrg g e

(a) 43/3 days / 43/3 fe=i &

(b) 47/3 days /47/3 feat &

(c) 49/3 days /49/3 et ®

(d) 56/3 days / 56/3 Ta=T &

Q24. 8 men can do a piece of work in 12 days. 4 women can do it in 48 days and 10 children can do

it in 24 days. In how many days can 10 men, 4 women and 10 e —
children together complete the piece of work? & & test series

T FE Y 8 et 12 RAT § T FT T 3. IHT 1 Fr 4 wiged 48
AT & ol 10 7Y 24 RAT § T F T &, I FA FY 10 7, 4 SSC CGL TIER-II
wfeed o 10 7Y v AT e F e Rt & v war? =4/ QUANT & ENGLISH
(a) 5days /5 faat # COMBO

(b) 15 days /15 ﬁ?:l'ﬁ' 40 TOTAL TEST

(c) 28 days / éiﬁﬁ;ﬁ il « 20 Quant Full Length Mocks
(d) 6 day / 6 fa=T & * 20 English Full Length Mocks
(e) None of these / 7H & &Is A5l M
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Q25. A can do a certain job in 12 days. B is 60% more efficient than A. Then B can do the same
piece of work in

A T AfSa 1 7 12 AT § Fa9a1 8. B, A ¥ 60% ATF FIAA §. THIT FTH &l F1 § B Foha = @rar
2

(a) 8 days/fe=

(b) 7 ¥ days/ fa=t

() 6 Y days/ fa=

(d) 6 days/ fa=

Q26. 9 men working 7 hours a day can complete a piece of work in 15 day. In how many days can 6
men working for 9 hours a day, complete the same piece of work?

9 areft i e 7 o= 1 T F el v 1 15 R’ § @ X 99 €. T T § 9 W &1H #°X & 6 /W
T foeTl ® 99T 1 T € 99 872

(a) 63/4 days /63/4 fa=i &

(b) 16 days/16 fa=T &

(c) 67/4 days /67 /4 Tt &

(d) 35/2 days /35/2 fa=i &

Q27.9 children can complete a piece of work in 360 days; 18 men can complete the same piece of
work in 72 days and 12 women can complete it in 162 days. In how many days can 4 men, 12
women and 10 children together complete the piece of work?

et w1 #1 9 979 360 fadT & T FX aa §; SHT w1 H 18 AT 72 oAt 7 ik 12 wfgend 162 e &
T X Thd T 5. aT SHI o1 T 4 redT, 12 7IZATE i 10 g & v A< fhae i § v sare

(a) 68 days / 68 fa=T &

(b) 81 days /81 fa=i &

(c) 96 days/96 fa=T &

(d) 124 days /124 f&=7 &

Q28. 10 women can complete a work in 8 days and 10 children take 12 days to complete the work.
How many days will 6 women and 3 children together take to complete the work?

et 7 &7 10 wigeTd 8 foei & QT T gl & 3T 10 9 F& F1d Fea § 12 AT &7 a9 A 8. S Frd
FI 6 AigATY, 3 I¢ TH a1 A g F3 # fova=T 97 @2

(@7

(b) 8

()9

(d)12
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Q29. A and B undertook to do a piece of work for Rs. 4500. A ,
alone could do it in 8 days and B alone in 12 days. With the ENGLISH

assistance of C, they finished the work in 4 days. C’s share of
money is:

IE S EPEVES RS aRt YR S Bl SSC CGL TIER-II
S B 3ot 12 fRAT & QU7 X 9T §. C A 9g1aT 9, Igiq 4 et 6

79 THT T 22T ¢ i frast afer f@eft 2 BOOKS KIT

(a) Rs. 375/ 375 ®4U Ace - Advance Maths | Arithmetic Maths
(b) Rs. 750 / 750 =9U English | 20+ SSC CGL Tier Il 2015-18
(c) Rs. 1500/ 1500 ®91T Previous Years' Papers Book

(d) Rs. 2250 / 2250 &9T

Q30. A, B and C complete a piece of work costing Rs. 1800. A worked for 6 days, B for 4 days and C
for 9 days. If their daily wages are in the ratio 5: 6 : 4, how much amount will be received by A?

PRt s A A, B C 1800 TCH ANA AU FA . A6 R, B4 RasircaoRa A s @@
. aft It 3R a1 ST FHa 5: 6: 4 F & 97 A g WTH Oy Sqrey ?

(a) Rs. 800 / 800 =91

(b) Rs. 600/600 &7

(c) Rs. 900 /900 =TT

(d) Rs. 750 /750 =T
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